
Displacement and Velocity


Don’t forget to IESSUU!

The Post Office van 

The map shows the journeys made by a Post Office van. The distance of each stage is shown, and the time taken to drive it. 


1. Postman Pat travels from the Post Office to the church via the library and shops.

2. What is the distance Pat has travelled?

3. What is Pat’s displacement?

4. What was Pat’s average speed during this journey?

5. What was Pat’s average velocity during this journey?

On his way back Pat drives directly to the Post Office from the church

6. What is the distance Pat has travelled?

7. What is Pat’s displacement?

8. What was Pat’s average speed during this journey?

9. What was Pat’s average velocity during this journey?
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1. A man walks from X to Y along a winding road.

· What is his displacement at the end of his walk?

· What distance has he walked?

b)
If the walker in question 1 above took 40 minutes for his walk, what was;
· his average speed

· his average velocity?
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2. One complete lap of a running track is 400m.

An athlete completes one lap in 48 s in the 400 m race. What is his

· a) distance travelled
· b) displacement
· c) average speed
· d) average velocity.
Repeat this question for a runner in the 800 m race whose winning time was 1 min 54 s.
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